Practice for Ppt Reactions
CHM 1045

For the following reactions:  

1.  Write the complete balanced reaction

2. Is it a precipitation reaction?

a)  Al(C2H3O2)3(aq)     +  
FeBr3(aq)   (     AlBr3(aq)     +     Fe(C2H3O2)3(s)    

PPT rxn
b) Cu(NO3)2(aq)       +      2 KOH(aq)  (     Cu(OH)2(s)     +    2 KNO3(aq)


PPT rxn
c) MgCl2(aq)     +     (NH4)2CO3(aq)    (     MgCO3(s)     +   2  NH4Cl(aq)


PPT rxn
d) ZnNO3(aq)     +     CaCrO4(aq)     (     ZnCrO4(s)     +     CaNO3(aq)


PPT rxn
e) 3 Co(NO3)2(aq)     +  Fe2(C2O4)3(aq)     (   3  CoC2O4(s)     +    2 Fe(NO3)3(aq)

PPT rxn
f) KNO3(aq)  +  NaCl(aq)  (  KCl(aq)   +  NaNO3(aq)




NOT PPT rxn

